2022 E HEHRE (EZ=4)
AAY4 (N g“
818y 16f5 4/8 184
A8 [EB[FF =KL =i X ERF-4 =5
6/25 | suy—4 0 : 9 ALK L 7 RFC A TR/ NER
1 5 F—FC
LY kR)— 4 1 WAL R L 7 RFC B
0 6 AL R L 7 XFC B
0 10 LKL 7 XFC A
3 1 F—FC
7/10 | A FURRBRSESRY v H—KE (HOAR) | 1 14 FCL/S— Kjr FINFAEYY H—15
10/15| = suy—4 0 0 =B ¥ESC FicpEA S PNt 5
0 6 WAL T R
1 1 T IRIFFC
LY R — 0 2 = 5TSC
0 4 WARLT7 X
0 2 TFHRIFFC
10/22| = suy—4 0 7 WKL T X =5 FZEMEES
2 2 S
3 2 = 5TSC
LY R)— 0 5 WAL T R
1 0 R 1ESC
1 1 = E¥SC
10/30( B [1.2| RIEFHRER Y v h—RFREHAE | 0 2 TIL—A—TJILR LRI /N
0 4
11/20| B suy—4 0 0 JLEEFC ZEEET Y bYA=
LY kR)— 0 3
0 3
0 5
0 3
0 1
0 2
0 3
0 6
1 1
0 2
12/10| £ EX VNP it 0 1 XA/ KFC FHMIIER /MR
1 1 NIITZO
1 4 FCI:R
5 0 EAAFC
2 2 NIIZO
1 8 FCI:E
1/7 | £ ERERKD4VE—hyT 0 4 NIIZO BETY—2—IA (B)
0 2 EABAFC
0 8 A
0 4 ZHED T
0 5 N
1/8 | £ |1.2|#6EEEROELEY vy h—K&| 0 8 Jos Ly kA FINFBEBY Y h—15
1/29 | B [1.2 LY R — 1 1| DINN—D4 VIR |FEETY bHILIS—H
1 0




2022FE BEHKER

(EZF4F)
AB [fEH HEB/WM AT Xt ERTF-4 E
0 1
0 2
1 2
0 0
0 0
2 1
0 0
1 2
2/19| 8 [1.2 JLY Y — 0 6 EEHESC FINFBAEY Y h—15
1 3
1 3
0 2
0 7
2 1
1 1
2/23 | K% 1.2 JLYRY— 1 1 T IRIFFC JLRTEF /MR
1 3
0 4
0 1
2/25 | £ [1.2 JLYRY— 4 1 RAYXFC =5T%AHERE
2 1
2 0
3 2
3 3
1 1
3/4 | £[1.2 JLYRY— 2 1 AL EFC FINFBEFEY Y H—15
1 1 mEY v —2 XSC
1 2 AL EFC
0 1 mEY v —2 XSC
1 0 AL EFC
3 1 mEY v —2 XSC
3121 B | 1 EB/RT I RFIFAEKRE 1 4 FH® BT ) —2N—9B
4 0 A PR
0 3 FC®
2 2 HAPC




